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O o W Re 3 S o fed et 3 A faeiae % A ¥ fdt denen A A |
In case of discrepancy between the English and Hindi versions of any question, the
Hindi version will be treated as final.

e
(i) &t weT wfEd # | ' _
(ii) w9 A 6 & 23 9@ § siafd famed fF ™ ¥l | —
(i) W I 1 9 5 % 32 TGS e ¢ 9 TEGRTE WIT 1 3 &1 81 (32
(i) WA HH® 6 W 15 T Yeddh 99T UL 2 8ich eArEfed & | U T I T

(v) W FHiE 16 @ 19
(vi) W FHIH 20 § 23 T A




-]“ﬁzﬁ
I @ faFs gaay fafaa . :
(i) -aﬁmﬁwﬁﬂmﬁmmmﬂmﬂm%-ﬂi‘
(1) omifha wedEm smegsan
(@) it smayamand ud apdifid waeE
(6) @it smayaman v geiw H@ETHH
() ifm srasasard vd Sifta gareE
(i) e @ agei A @ A 9= 7w T -

(31) wreEr ()  areafus wraaTt
(@) AdraET (%) goi deieETT

(iii) Fa @E B O —
(31) % ufEdl s (TVC)
(@) & Rax @r@ (TFC) -
(@) P fert s wd ga oftad av @ @ (TFC + TVC)
(2) o oitedt @ wd Fw Rex @il @ siwo (TVC — TFC)
(iv) Tr=iforaa % 4 w9 s F9-d 27

(3) == (@) HqEH
(|) =g (@) fazef & wrg SUEl
(v) =99m 5q & —

(3) o du1 ST F WEw (|) og 99 99d § gau
(§) omg g1 Faw F @99 (@) 499 qur SN oA He€d
(vi) T w18 99z § waE A T 20,000 FiE g9 g9rn T 50,000 0 2

73 faim 9= 2o
(31) T 50,000 wH= (@ T 20,000 =

(F) T 70.000 H0= (@) T 30,000 HU=
Choose and write the correct option : '
(i) The fundamental economic problems being faced :

(a) Unlimited human wants

(b) Limited wants and unlimited resources

(¢) Unlimited wants and scarcity resources

(d) Limited wants and limited resources 4
(ii) The elasticity of demand of luxurious commadities is -

(a) Elastic (b) Highly elastic
(¢) Inelastic (d) Perfectly inelastic
(iii) Total costs are - &

(a) Total Variable Costs (TVC)
(b) Total Fixed Costs (TFC) . :
(¢) Sum of Total Fixed Costs and Total Va_rial;le Cnsts(_'I'F{:+ WG)
(d) Difference of Total Variable Costs and Total Fixed Costs

(TVC - TFC) A

— o
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(iv) Which of the following is factor income?
(a) Interest (b) Grants
(¢) Scholarship (d) Gifts from abroad

(v) A consumption function is -
(a) The relation between consumption and*iucume
(b) The relation between income and savtn&s
(¢) The relation between income and mvestment

- (d) The relation between savings and cuns’umpunn

(vi) The government budget revenue deficit is ? ﬁﬂ 000 crores and
borrowings are ¥ 50,000 crores. The fiscal deficit will be :
(a) T 50,000 crores (b) T 20.000 crores
(¢) T 70,000 crores (d) ¥ 30,000, crores

&

<
2 fmm w1 oofd AR E:‘: 1x6=6
(i) Ha Gwifq 9% & o §ed _ B@r Bl -
(i) off @1 fram azgaﬁﬂamaﬁa’rm%j
(i) o ufmefes 9w § fbar _ =gei &1 f9ed S &
(iv) By w9d= wrimd &R @R 35 B v & N 9T & T e
= T FL B £
(v) m%ﬂﬁ%w‘?wm%mﬂzm
Ug FHI W YHIE W6 H g = |
(vi) T wd dm oo wafe & d" . HEu g S
Fill in the hlanks ; -
(1) The slope of the tntal t‘&vﬂnu

(i) The law mf suppg does not
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w W s fofan - e
(i) &am & SO & @i @wd sy 5 el g
(i) @gem @ Rafy & wf afuwaw @w wra H gHA o o
(iii) STHM =g = w@Eg Ipem + Afw I ey
(iv) sifefea s 2 Rafy # gure & ford qeard = 4 ghe FT0 T
(V) @82 ¥ gwe Wow geest avg far o 3 oN
(Vi) 9T, SR qar Av featg aufe adere @ arar @ el O
Write True or False :

(1) In the long run all factors of the production are unchanged.

(it) Firm gets maximum profit under equilibrium condition.

(iii) Consumption expendilure = Autonomous consumption + Indueed

consumption. N
(iv) Excess demand can be corrected by increasing the 'govemn%ﬂl
expenditures.

- - '[‘
(v) The budget speech delivered in the Parliament by the Home Minister.
(vi) Income. output and employment theory do not belong to macro

economics,
WA FE A : | glx?ﬁl
“;ﬂ?l “ﬂ'” d].
(i) fafmg =T A gha (a) HUTUY i P~
(i) fafma et § &4 (b) WA art # fHAW O
(iii) T TuE (¢) @ agE N
(iv) =iz surg (d) PEH HgEH & sHEE o
(V) @i Td qe (e) WM HYTH % Wiagm
(vi) T wd = (h fifes asd
(vii) HIZ AT . () =mMYS Ty P
Match the correct pair : ' | O\
!IAH 'I‘IB'II f}’]
(i) Increase in the exchange rate (a) Taxation policy 5
(ii) Decrease in the exchange rate N m eration .

(i) Fiseal measure
A=t 2 'ﬁam—. Iﬂm |




% g 4 T fAfao - 1x7=7

(1) owede ¥ v A 9ff W 9w Bhw warc @ B &7

(i) frw ad & omifen gd g0 & 2w wewd @ wwkm g2

(iii) wrd & 4% &1 ¥F @ &7

(iv) worEqe qmT F sEuEn fd A7

(v) wfowen =@ 58 warR &1 =g a6 o &7

(vi) TH 39 @ GAT B AL AN W G A aw qeq @ pEear &7

(vii) T sma o @ fafrdl % A fafa

Write the answer in uﬁ? sentence :

(i) What is the supply curve of a firm in the short run?

(if) In which year the countries of America and Europe were affected
by the Great Depression?

(iii) Who is the banker. of banks in India?

(iv) Who gave the concept of effective demand?

(v) What type of expenditure is defence expenditure?

(vi) What do you call the price of the country's currency in terms of
the price of other country's currency?

(vii) Write the names ﬂk;ineﬂmds for calculating national income.

us e aftmE @@ 270 2
What is monotonic preferences?
- sm | OR
sudifier & @18 & s fufed _
Write any two characteristics of utility,
r\...
S TRl & Wiy & @ fefad S 2
Write any two chafadteq"':s:li'cs. of indifference curves.
.~ 9@ [ OR
gwe d¢ @ gfraifad #ifag )
Define budget set.

ES MELE e it e I"
Define returns to scale.
&) @i | OR

[1a0]| / 202
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11

12

(1) siftmqr 27 (2) afd &7

AW W H A i

Define opportunity cost,

07557

| s | OR
o SR e o a @ e v . |

Write any two characteristics of a perfect competitive market.

T B B ¥ oA A B g % fo IH=2: 4

When do we say that for a commodity in the market -

(1) Excess demand? (2) Excg{s supply?
 wm/OR

HEM AR A Ay e 3 o

(1) dges dra & aiftrs 7 (2) wgwl @ma d FH7

What will happen if the prevailing price in the market is

(1) Above the equilibrium price?

(2) Below the equilibrium price?

["‘-1
ﬁi@fﬂeﬁaﬁmma@ﬁ%ﬁmﬁ#rﬁﬁ,fﬁwmﬁw itk
freifa @ wmp 3 [‘:”

Write the names of any four necessary commodities on which the price
ceiling is applicable in India. E

st | OR o
Freem fruffts e % goftfea szeor afa

Give the well known examples of price floor.

mﬁaﬁmwifm#ﬂﬂamw%ﬂw%‘mmﬁﬁmﬂ: 2
Draw a labelled diagram of circular flow of incéme in a simple economy.

| A /[ OR f_-';
Frefufaa & qof am fafed e o
() GDP. () NDP. (3) WPL
Write the full form of the following:
() GDP. () NDP. (3) WP

(4) C.PL

4‘111 :I"- 3 . 1
ey Ay N

._.q:l RIS =y .u..u
T e




14

15

16

17

TS g T # g fafn & @ aw aesl & am fafEal 2

Write any four components of the income method of calculating national income.
syar / OR

= ud waw & uftaf st

Define stocks and flows.

e e 4% % o @1 sy faiE

Write any two functions of Reserve Bank of India.

sya | OR
dmid 3o wgfa @ & 7

What is marginal propensity to consume?

sefemaenr & g RS @ faaEE Hifed) 3
Discuss the central problems of aneconomy.

syar [ OR
FHG Fa AeEE dfaE Ud aER dderEEn ¥ @E a9 9% airad|
Distinguish between centrally planned economy and market economy.
(Any three) -

A AR B8 IusE SO g oMy @l @Y aXd 9w X &l 3
6WamaﬁYaﬁ8mﬁ@ﬁam%|aﬁfﬂﬁaﬁaﬁﬁqﬁmﬂ:
8 T ud 6 T E| SUNET B MG H AUAT HIFACI |
Suppose a consumer can afford to buy 6 units of goods X and 8 units
of goods Y. if he spends his entire'income. The prices of two goods
are T 8 and T 6 respectively. Calculate the consumer’s income.
s | OR
P orgEelt & oTeE TRT S i

Find out the missing figures in the; following table:

[

o sugiar / Total Utility (TU) SAl ST s
AmEta sgamar / Marginal Utility (MU) = -V I

18

19

AR T ST § AT 1 WA, @ S aied, @7 e el 3
Explain why public goods must be,provided by the government.

st 1) OR
T a9 % Bl A sl @ e s |

Explain any three objectives of government budget.

Wﬂgﬁﬁ%aﬁ@ﬁaﬁaﬁ%?ﬁwwﬁqﬁ@m@ﬁa&ﬁéﬁﬁ 3
wei & AW fafEd)
Write the name of any three items of current account and any three
items of capital account of Balance of Payment.

seat | OR
ﬁisﬁﬁrﬁqﬂﬂaﬂwﬂamﬁﬁrﬂﬁ#ﬂaﬁwaﬁﬂhﬁl

Describe any three elements whiclgal’l“ecl foreign exchange rate.

140
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20 W % Praw % @ an smard @ fadwen Hif|
Discuss any four exceptions of the law of demand.
Sfill , |
st 2y e ivr o Al 3 e e gEC e o A A AR S
Write the name of the degrees of price elasticity of Jemand and explain
any one of them with the help of diagram.
21 fe i ¥ s a gw owR R Tan ¥ AE @ o S :
HHid I9E §d siad |
In the following table the total product of labour
average product and marginal product ol labour.
g7 %1 =@ | Unit of Labour (1) | 0 () | 2 4 :
e 33 / Total Product o M5 | 3s | 50| 40 [ 48 |
g | OR
U EH & o0 IEET HEA 0 =5VJLK? & o HwITaG frfd s i
frmar w4 SaEd BT A 8, WEiE -
(1) L=4gama. K=0%s @)L= 16 gadl. K = 2 5804
The production function of a firm is _"Q:SJEKI.
Find the maximum possible output that the firm can produce with
(1) L = 4 Units, K = 0 Unit (2} L = 16 Units, K = 2 Units.
23 uRE T & 2016 ¥ Ry M Cfmdewr’ ¥ g@EOEs whE A S|
=Tl i | |
Explain the positive effects ol "Demonetization" done by Government
of India in 2016.

is eiven. Find the

lad

L]
—
—

s | OR,
st i % Hr o fadEer sl O)
Explain the functions of Commercial Banks:

53 g e e & gieErd) fra od B & faid § Bl 9 o fafedn 4
Distinguish between Classical theory an@l(c}r_nes theory of income and
employment. (Any four) :

sga [ OR
sreafirr Wi wE oTaTEr W ¥ v @ it ffed)

Distinguish between Excess demand and Deficient demand. (Any four)
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